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Here are the answers to the assigned questions and a quantitative problem drawn from the Mishkin & Eakins text.
Chapter 1, p. 13 

1.  Because they channel funds from those who do not have a productive use for them to those who do, thereby resulting in higher economic efficiency.
2.  Businesses would cut investment spending because the cost of financing this spending is now higher, and consumers would be less likely to purchase a house or a car because the cost of financing their purchase is higher.  (And in reducing such investment or consumption expenditures, businesses and consumers would be increasing their saving.)
3.  A change in interest rates affects the cost of acquiring funds for financial institution as well as changes the income on assets such as loans, both of which affect profits.  In addition, changes in interest rates affect the price of assets such as stock and bonds that the financial institution owns which can lead to profits or losses.
4.  No. People who borrow to purchase a house or a car are worse off because it costs them more to finance their purchase; however, savers benefit because they can earn higher interest rates on their savings.
12.  Savings and loan associations, mutual savings banks, credit unions, insurance companies, mutual funds, pension funds, and finance companies.
Chapter 2, p. 35 
3.  Yes, because the absence of financial markets means that funds cannot be channeled to people who have the most productive use for them.  Entrepreneurs then cannot acquire funds to set up businesses which would help the economy grow rapidly.
4.  The principal debt instruments used were foreign bonds which were sold in Britain and denominated in pounds.  The British gained because they were able to earn higher interest rates as a result of lending to Americans, while the Americans gained because they now had access to capital to start up profitable businesses such as railroads.
10.  They might not work hard enough while you are not looking or may steal or commit fraud.
Chapter 3, p. 62 
1.  $2000 = $100/(1 + i) + $100/(1 + i)2 + … + $100/(1 + i)20 + $1000/(1 + i)20.
2.  You would rather be holding long-term bonds because their price would increase more than the price of the short-term bonds, giving them a higher return.  Long-term bonds have greater interest-rate risk; that is, their value rises/falls more than short-term bonds when interest rates fall/rise.
Quantitative Problem 1.  Calculate the present value of a $1,000 zero-coupon bond with 5 years to maturity if the required annual interest rate is 6%.
Solution:  PV = FV/(1 + i)n 
where FV = 1000, i = 0.06, n = 5 
so the PV = 747.25
Chapter 4, pp. 84-85 
1.  a. less, because your wealth has declined

b. more, because its relative expected return has risen

c. less, because it has become less liquid relative to bonds

d. less, because its expected return has fallen relative to gold

e. more, because it has become less risky relative to bonds
2.  a. more, because your wealth has increased

b. more, because it has become more liquid

c. less, because its expected return has fallen relative to Polaroid stock

d. more, because it has become less risky relative to stocks

e. less, because its expected return has fallen
6.  When the Fed sells bonds to the public, it increases the supply of bonds, thus shifting the supply curve Bs to the right.  The result is that the intersection of the supply and demand curves Bs and Bd occurs at a lower equilibrium bond price and thus a higher equilibrium interest rate, and the interest rate rises.
12.  The increased riskiness of bonds lowers the demand for bonds.  The demand curve Bd shifts to the left, the equilibrium bond price falls and the interest rate rises.
